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03 SYPR+UZH| 20,160 32,640 12,480
O&t4eat 20,160
0S¥ YR+ U 20,160
-Oflah 2L A AR ETS T 80,000¥x3Yx12¢ = 2,880
4387t g7 80,0009x1Hx12¢ = 960
252 §937¥ 80,000¥x1x12¢ = 960
57| 4EAL 37 80,0009x16Fx 12 = 15,360
206 A=H| 26,820 26,820 0
01 Braizs| 26,820 26,820 0
o ZlsteFEA Ao 0E 52 7Y 6,0002x1007} = 600
o AlstedlY |8 37TY 1,000,00094x14] = 1,000
0 ZISt+ALEOIR HALE oFE7Y 200,00094x 14} = 200
o A5t SARTA 7Y 139,000x1807H = 25,020
207 AN 50,000 800,000| 750,000
01 7y 50,000 800,000| 750,000
O St 50,000
o Z2|0|dH 2| £ EH| 50,000,0009Ix14] = 50,000
214 HRA| A 89,812 81,079 8,733
05 MR 89,812 81,079 8,733
o A5t seldd IYE 0|0 7L 130,000&x2074 = 2,600
o Zlst4 Seldd Hhatet 7Y 30,000x2074 = 600
0 Z5t4 2| ARIAAE 0] HM2|H| 80,000¥x207}4 = 1,600
0 AS4ES YEUS|AAH R 24| 1,357,0008dx12¢ = 16,284
0 A5l4 BRUEAM Q2| 24| 2,000,00094x 1272 = 24,000
o |AR| RAI2H| 1,000,0009 = 1,000
o WA U T2IE| R 22| 225,00094x128| = 2,700
0 AYS7|Y OIS A EEALH F|E4H| 10,370,000¥x 14} = 10,370
o Alofpe| T2 QT2 205,000¥x12¢ = 2,460
o 25t SelFYAILH s/w FAI2 599,8338x12¢ = 7,198
o TEAATZ| 2|5t T2 Y R2IH2 800,000x107H4x23]| = 16,000
o USOIBAIY RAESH|(SEAIL ASHE HE 5)
1,250,000 x4 = 5,000
300 B0l 1,482,606 | 1,454,041 28,565
304 ¢IBRYSS 378,718 350,153 28,565
01 ¢3RS 335,639 308,823 26,816




2 1 (700) AtH|E e (710) SEHIE
Mg @ (751) egtate]d| = ! (304) ¥aFEas (EHe] : M)
In 2 L=
s AT s Ao | §ia | 2%

o HEREZ (Gt it =2l 1,876,369,000%%9% = 168,874

o EXg(oteeit 24t "I 1,876,369,00094x4.973% = 93,312

o ER|+GREZ (Gt 2t = 2T) 1,876,369,0009%3.7316% = 70,019

o MNELEEF (otent, 2o, E2IF)  1,876,369,0008%0.183% = 3,434
02 IUAHZEHRHFS 43,079 41,330 1,749

o BUALEHELZ (5141} 1,125,996,000¥4x3.43% = 38,622

0 oIV QU HZ (5141 38,689,000¥x11.52% = 4,457
317 27|YEYs|AZtee2 1,103,888 1,103,888 0
0 StrZAEE ERSg 55,000,000,000¥x2% = 1,100,000| 1,103,888| 1,103,888 0

0 WEO|EAM2} 2223 UM BHZ 10Ex720€x30%x2007Hx9E = 3,888
770 FYAHIE 214,400 214,400 0
779 JIEIHYHIE 200,000 200,000 0
802 Bteta7|Et 200,000 200,000 0
15 7IEIGUAHE 200,000 200,000 0

OUFAISE2MOIZ S ElR 2 FRURHV IS (&R BEF4TR)

200,000,000¥4x141 = 200,000
782 7|z ed 14,400 14,400 0
802 Brata7|Et 14,400 14,400 0
14 7|&eedad 14,400 14,400 0

otAE St-EAER NREHF Bt 80,000x1521x12¢ = 14,400
800 Of|dH]| 239,588 | 1,379,620| A 1,140,032
801 ofjdy| 239,588 1,379,620| A 1,140,032
801 of|u|H| 239,588 | 1,379,620| A 1,140,032
01 etojH[H| 239,588 | 1,379,620 | A 1,140,032

o ofiHH]| 239,588,000 = 239,588




